
1.Sara has 3 10p coins. She buys a chocolate bar for 18p. How 
much money will she have left?

2. Tick the shapes that show 1/2 is equivalent to 2/4.

Reasoning

Grammar and punctuation

5. Sam buys 10 bags of marbles. Each bag has 5 marbles.
He losses 8 of his marbles. 
How many marbles are left?
Show your working.

19       +                  =    48

34       - =   2

2   +  21  +  16   =   

35   - 15   - 1     =  

⅓ of 30   = 

¾  of 44   =  

=   5    X   5  

50    ÷ 5   =        

Spellings

Arithmetic

1. badge
2. mice
3. pedal
4. rabbit
5. pencil

3. 

1. Only one of these sentences has capital letters in the 
correct place. 
Tick the one you think it is: 
 She sat sadly looking at the House.
 there are mice in our kitchen.
 My name is louise and I am seven.
 Mrs Kennedy is our teacher.

2. What type of word is underlined in the 
sentence below?
There is a dog in the park.
 adjective
 verb
 adverb
 noun 
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4. Look at the amount of water in jug A and jug B. How much 
water is in jug A and B altogether? 

2. Sara says her teddy bear is heavier than the grizzly bear. Is she 
correct?

_____________________________

Grizzly bear 10kg Teddy bear 10g 

Jug A Jug B


